F70RIERABREIMINVFER I FIMEFES H27.6.14
BE  IEE HE OSE K% 1 2 3 4 5 6 Bt =
10mS60M 1 1 18% 1E#t 103 1023 1050 1041 1034  103.6 621.4
10mS60M 2 1 191RiE BF 995 1029 1000 962 963 1002 595.1
10mS60M 3 1 2HT £% 100.7 97.7 96.6 100.1  100.3 98.6 594.0
10mS60M 4 1 0P8 H3 990 984 961 1000  98.1 97.5 589.1
10mS40W 1 1 26 1UA FE=E 1020 1015 1008  97.7 402.0
10mS40W 2 1 255 RE 101.3 1004 1015  95.1 398.3
10mS40W 3 1 28Il FFE 99.0 95.2 99.9 99.1 393.2
10mS40W 4 1 2730 EAH 101.0 96.6 96.6 98.4 392.6
1omS40uw 1 1 32 BZE {F1E 889 949 959 938 3735
10mS60JM 1 1 33 KEp KER 92.0 100.0 90.2 89.5 95.9 98.9 566.5
10mS60UM 2 1 34 THE FEX 949 929 917 84 899 926 548.4
AP6OM 1 2 18KEH IEH 94 92 93 93 94 95 561
APGOM 2 2 19@HF /A 91 89 83 90 93 94 540
APGOM 3 2 21N B 91 89 89 89 89 87 534
APGOM 4 2 20FA B 85 92 87 89 88 90 531
AP40W 2 2 IhF BE 92 95 94 90 371
AP40W 2 2 rthibthE 87 91 90 89 357
10mP60OM 1 2 26/ Mk BB 1032 1038 1044 1039 1045 1035 623.3
10mP60OM 2 2 251EEE Bh#k 1022 1026 1035 1041 1029  105.1 620.4
10mP60OM 3 1 36BEH AS 101.8 1026 100.8 1049 1043 1045 618.9
50mP60OM 1 1 24X%H [B— 98 97 96 97 97 98 583 x=23
50mP60M 2 1 21 BHXA 97 100 96 96 91 95 575 x=21
50mP60M 3 1 26/ HS 96 92 96 96 97 98 575 x=20
50mP60M 4 1 25ET #t 98 96 94 92 93 96 569 x=17
50mP60M 5 1 23KHE BA 97 91 94 97 93 96 568 x=17
50mP60M 6 1 22N & 97 97 91 18 303 bnF
50m3x20M 1 2 26 4% {E# 91 94 99 94 96 90 564 x=12
50m3X20M 2 2 29 #5K FE 92 91 98 91 89 82 543 x-5
50m3X20M 3 2 28 F#R B3l 87 86 95 95 85 86 534 x=10
50m3X20M 4 2 27 thE 87 88 96 93 84 82 530 x=7
50m3X20W 1 2 30 EFE R 84 86 90 93 96 92 541 x=9



